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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Tene FaYed 94 Y9 U9 W A AR fad |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

g T3 & fet 9 SiUst ®U=R § foRet ger it Jfe / ot/ faunm
M W fet oo F g 1 wEl " |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

sft g A SAfard §

All the questions are compulsory.

TS T9 1 I o e ISW-Yaent | 7 fad |

Write the answer to each question in the given answer-book only.
519 9% & Tk 9 21 gAE Sk ot 9§, 39 9 9 o g T |1
qaq fag |

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.
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10.

S e =1 gty sifsa |

Define Population Education. 1

AIIETcHe TR ¥ 1 arcad § 2

What is meant by Matriarchal family ? 1

A (oA ) g Ffaad faeme # @ W wifey |

Distinguish between Hypergamy and Hypogamy. 1

o1 foare & foh=gl St Agqul RO i FdET |

Write any two important reasons of child marriage. 1

qreSTeh feraTur Joedt i S STeIgaehdl & ?

What is the need of public distribution system ? 2

TS SR U Thdl Ud 399 A9 A ST<iwiidia faare grR1 9md § |

o

Social and national unity as well as better heredity are possible

through intercaste marriage. How ? 2
SgfoaTe ¥ A9 1 gHd & ? IgUid foere & IRumEl @1 Seora i |

What do you understand by polygamy ? Write the consequences of
polyandry. 2

qe gfg, fas fama 9 grafaa @ism) & |r Taw@ fafan |

Write four opportunities of self-employment related to the subject of
Human Growth, Development. 2

R Sfaa-=g i faf\e Tazensti 3 ¥9g T 99 &1 71 W Thil Sifdy |

Throw light on the demand of time and money during different stages
T 18 1 1
of family life cycle. lz+15 =3

forya oy TieA &1 fw=l ar nfafafed & T Shifsa |

Explain any two activities of World Health Organisation. 1 % + 14

7 =3
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11.

12.

13.

14.

15.

3

IRA # SEE gfg & HRU FE-H T ? TH R 6 R qeH | F
AN § Hhdt B 2

What are the factors of population explosion in India ? Explain the role

of adolescent girl in controlling over population rate.
2+2=4

TSI UREdT i 9Yfasy 9o €9 R T8l R TWehd § 2 Wi S
HHTTSTeR aiterde 9 o § ?

We cannot predict the social change. Why ? How can technological

factors bring social change ? 1+3=4
ThTh! IRER i STEHRON i T HId U $Hoh T[U-QHl hl fqe=HT1 HITST |

Explain the concept of Nuclear family. Discuss the merits and
demerits of nuclear family. 1+1 % +1 % =4

A § o 49 1 99 W 94 fo=m yehe wifsw | o g9 ( foy we
T ) eAfyfm, 1986 1 Hediieh whifsg |

Give your views on the problem of Child Labour in India. Evaluate the
Child Labour ( Prohibition and Regulation ) Act, 1986. 3+2=5
= 7 9 ff ST dfw feoft fafa

i)  HEifyd EE-uee w R UEd R

i) REn 3 gfg w1 Hew

iii) g & AT U

iv)  Ha-fyar & enfde STt |

Write short notes on any two of the following : 2 % + 2% =5
1) Reasons for the popularity of the processed food

ii) Importance of supplementing family income

iii)  Medicinal values of Tulsi

iv)  Economic responsibilities of parents.
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